#7508 RRAKR—y kST )| TEEHm#EE

1 FEM [ 536S]
K 4% OUT | IN [TOTAL
INR KE 37 37 74
T8 =i 38 40 78
AH0 BR 39 42 81
EREH  Zn4t 38 42 80
a5z NF 34 36 70
fmAR Ba 44 37 81
FNITg: 40 39 79
E#E BER 38 44 82
=H zY 37 41 78
B Z=#EE 36 41 77
3 (F&m Ss)
K % OUT | IN [TOTAL
0
0
0
0
0
0
0
0
0
5 g C 583 SJ
K % OUT | IN [TOTAL
AH i 45 43 88
BIEH X5 44 42 86
FH ES 44 44 88
o 1E 41 41 82
BE JE— 0
NS E 35 42 77
=8 5h40 37 42 79
ABRHA FX 39 47 86
#wmAR RF 47 45 92
=E B 40 45 85

2

4

(=]

i)l [ 5428]
K 4% OUT | IN [TOTAL
B BRKAER | 40 40 80
BE &— 37 39 76
i BA 42 4 83
HiEE EE 36 40 76
FaLl A 36 40 76
[FH % 39 38 77
HEH A 42 40 82
P BF— 38 37 75
Mol Z3E 44 40 84
BER ER 47 41 88
fatE [ 540 S]
K # OUT | IN |TOTAL
NFORRTE] 4 37 78
®E F— 35 41 76
AR {&5A 37 42 79
BH F 36 41 77
mix BT 38 37 75
= 43 35 78
=k B 42 46 88
R E— 42 41 83
TH HRF 40 39 79
55 HE 38 39 77
AEZEM [ 550S]
K # OUT | IN |TOTAL
HE B 36 37 73
BE XA 40 38 78
ING E— 45 39 84
a5 = 40 39 79
rx% BE 39 45 84
BA JE— 36 38 74
falR 40 42 82
EA L= 43 37 80
Tk T 46 46 92
#wR FFRTF 40 45 85

fhAr g H k) —EZEER
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E£75RIERAN—YXET )L IR AIER

1 BT -REE [ 5728)
K 4% OUT | IN [TOTAL
E2H F— 38 42 80
EE FER 37 38 75
e k= 42 43 85
i #ie 46 46 92
£H #K 40 45 85
EiD B 42 42 84
NE RIS 42 38 80
fEE FX 41 45 86
IR SEFD 42 41 83
g BEfE 45 45 90
(F&m Ss)
K % OUT | IN [TOTAL
0
0
0
0
0
0
0
0
0
R [ 5398S]
K % OUT | IN [TOTAL
B #—F8 37 39 76
INEFA 35 36 71
EA 39 42 81
E]|P.N | 38 45 83
. BF 37 37 74
NI = 37 39 76
ZH = 46 41 87
XA 1EH 38 42 80
fEH &EXK 4 40 81
Bk IF 46 42 88

8 WMETH [ 561S]
K 4% OUT | IN [TOTAL
aH # 44 41 85

gk iEE 38 44 82
=0 &8 37 35 72
BHF K 39 42 81
BE & 40 43 83
NI ERE 39 42 81
EH RE 41 42 83
ET8 EX 43 41 84
B #F 41 38 79
X5 KEF 41 42 83

10 FEEH C 569 SJ

K # OUT | IN |TOTAL
A EiZ 4 43 84
N 39 43 82
K FX 42 43 85
AKX EA 44 46 90
ki 5B 40 40 80
L% BX 38 42 80
B BT 40 43 83
AHE 5h 0
FW BF 43 40 83
BIR =% 39 38 77

12 BEEHH [ 547S)

K # OUT | IN |TOTAL
INER R 39 41 80
file 1EBR 35 37 72
FRE EFES 42 39 81
RHE xiE 45 39 84
FIER FJa 36 42 78
£l RE 42 39 81
=JH EBKER 41 36 77
BTH BEX 41 44 85
ERKX JEF 40 38 78
AH ER 43 42 85

fhAr g H k) —EZEER
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13 \FHKmH [ 5348S]
K 4% OUT | IN [TOTAL
Kt RE 36 36 72
KE R— 33 35 68
INK EBThEE 37 36 73
tE HfE 40 42 82
2 E=E 41 42 83
AR 38 37 75
E¥H 22 38 43 81
#Ill 51T 41 48 89
At Mm=E 45 42 87
BE BF 43 43 86
15 RIEER C 586 SJ
K % OUT | IN [TOTAL
IB% %& 36 35 71
E EH 40 46 86
\LFE IE# 42 42 84
B 49 46 95
BEE E1F 44 46 90
BE 5 39 39 78
IHE 41E 43 42 85
RH E— 45 47 92
a8 EF 48 48 96
R K5C 48 48 96
17 ENfEARH C 555 SJ
K % OUT | IN [TOTAL
FEH EF 43 38 81
FH iFH 40 38 78
a0 #hh 39 39 78
& A 41 34 75
RiE BT 39 42 81
EN: 37 39 76
1A ZEF 45 41 86
HS & 38 53 91
ERK EBF 43 47 90

14 TR [ 549 8]
K 4% OUT | IN [TOTAL
XEF Ot 41 47 88
B FIE 37 40 77
Al FBR 41 38 79
HE X&E 42 40 82
A —% 40 42 82
R EX 41 37 78
ht &= 36 39 75
=W B 39 44 83
ZE TR 41 37 78
8BS UA 39 41 80
16 FEEB C 540 S]
K # OUT | IN |TOTAL
B 39 39 78
£k 58 38 38 76
B KIE 38 41 79
BE ZEA 36 38 74
Rk FH 42 43 85
1EE #FHREB 40 42 82
BAR IEE 38 40 78
#mAR & 35 38 73
BE EEF 44 46 90
LR /MBS 52 51 103
18 LUK AR C 533 SJ
K # OUT | IN |TOTAL
BH i 35 37 72
Ng =X 37 31 68
HiE Y— 39 37 76
a=iE B 39 37 76
AtHIE &)X 38 4 79
FEE FA 40 39 79
BH RH 45 43 88
MBI FEER 42 41 83
AR JEF 44 42 86
=B AZE 43 51 94
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19 AT ([ 5428]
K 4% OUT | IN [TOTAL
FIE {E 34 39 73
Bl fEBA 38 42 80
B®E IBA 41 40 81
Bl &5h 36 38 74
FEEX X 40 40 80
Il ZR5h 40 36 76
L EF 42 48 90
BE EkT 40 38 78
21 JBTH [ 570S]
K % OUT | IN [TOTAL
KX EHI 43 40 83
aE Fa 40 39 79
ik X 36 41 77
Bl E—8B 42 45 87
R BE 41 40 81
Pk HS 44 42 86
i - 39 40 79
HE R 43 42 85
BRI nKF 44 42 86
A EBH 52 51 103
23 it C 533 SJ
K % OUT | IN [TOTAL
Bk FE—B 39 47 86
=215 #iE 34 40 74
A N 47 45 92
b EF 38 37 75
M BB 36 42 78
Mx BE— 40 41 81
A& ER 35 37 72
Bk i 40 37 77
25 #BEF 38 38 76
WH #BF 42 41 83

20 [mEETH C 595 S]
K 4% OUT | IN [TOTAL
TE BE 42 40 82
A 48 43 91
LEE Jft— 51 44 95
R JTiE 45 46 91
Rk SiE 47 42 89
$5K IE—ER 39 39 78
IRFE RS 43 40 83
/AR IEE 47 44 91
Ly FHE 44 40 84
BiE A 44 44 88
22 REER [ 561S]
K # OUT | IN |TOTAL
K E1T 32 35 67
ik B 38 41 79
SE #0 39 42 81
A B2 44 43 87
AR ErHE 42 43 85
Al 2zt 39 41 80
BE g 43 47 90
X R 40 42 82
P tHhF 44 50 94
=% mF 46 44 90
24 §5)IIth [ 5588S]
K # OUT | IN |TOTAL
=H B 36 45 81
aiE 5— 40 46 86
218 &l 42 45 87
Btk FIFxE 40 39 79
EO Ez 37 43 80
ZH BRE 37 38 75
Ak HE 42 47 89
R AhEY 36 34 70

fhAr g H k) —EZEER
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25 fiETh [ 581S] 26 IR+ [ 548 S]
K 4 OUT | IN [TOTAL K 4 OUT | IN [TOTAL
R Fz 43 55 98 e =4 38 35 73
BE E%8 48 45 93 BS ¥H 41 41 82
BREH Eth 42 42 84 T ¥ 41 40 81
20 = 39 38 77 Nkt €& 36 36 72
BER K3 41 41 82 £H EfA 40 44 84
aH & 44 40 84 R B— 40 45 85
ERE i#& 38 39 77 fEH = 38 41 79
o B 42 44 86 o 43 42 85
wmH BHYF 44 47 91 Pk BETF 38 39 77
27 ZiF [ 557S] 28 EiEh [ 568S]
K % OUT | IN [TOTAL K 4 OUT | IN |TOTAL
=t 36 37 73 e BR 41 42 83
EED EF 39 41 80 BRE 1T 39 40 79
He 39 37 76 NS X 44 44 88
K FiE 39 40 79 IMER 1K 42 38 80
ek BH 39 45 84
FHE % 37 43 80 IUEA A 40 41 81
ARER = —ER 43 42 85 T OIE{T 39 37 76
=HF X 43 42 85 B IFRR 43 41 84
BH BE 44 42 86 #BR BIK 44 41 85
BH K 51 47 98

29 #h/7E™ [ 564S] 30 R [ 549 8]
K % OUT | IN |[TOTAL K 4 OUT | IN |TOTAL
AAR FA 44 44 88 IUA {EREAR 39 37 76
’lg Eth 35 37 72 2E B2 40 44 84
kg = 42 37 79 T =T 38 39 77
+% =8| 36 45 81 AL {5ER 39 44 83
0 A HiF 46 40 86
EAR Z 36 37 73 MHE ES 35 39 74
=x #B= 45 45 90 g E= 40 39 79
TrFE = 42 47 89 s & 39 40 79
b FEF 42 40 82 Rk oH 39 42 81
ER BF 46 45 91 BH Fh 44 42 86
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31 BLAT™ [ 544 S] 32 A [ 579S]
K 4 OUT | IN [TOTAL K 4 OUT | IN [TOTAL
il g 39 38 77 FiH —i#E 40 39 79
fEEE Ric 37 40 77 £+ AREE 42 42 84
B ER 38 43 81 IZNR ET 39 42 81
=ik Fi— 38 42 80 B 7 39 43 82
=& Mt 40 36 76 =2iE =5 40 47 87
AR #2— 41 36 77 BIx BE 48 42 90
AR E— 39 40 79 0
IIE T 38 40 78 Bl BE 0
Ml BE5 43 41 84 FlR F= 40 36 76
WA KF¥ 42 39 81 X# EF 47 49 96
33 NI HTH (569 S]
K % OUT | IN [TOTAL
FREF A 37 38 75

B ER 44 46 90
A& IEEZER 40 44 84
BH K& 47 48 95

KE R 46 39 85
UNSIR T 39 37 76
Es AR 40 40 80
WE BT 45 41 86

hA R 44 43 87
faft BF 42 41 83
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